HOME EXERCISE 4

Set out carefully all appropriate working.

. Evaluate: (53 -39 x 2 3)
. If a=-3 and b=-2, evaluate: 2a°-b (3)
. Change the subject of the formulatow : (a) t=w’+2n (b)y p=h-2w %)
. Remove the brackets and fully simplify: (2a + b)2 - (4a-b)(a-b) 4)

. The table shows the results of a race involving 19 runners.
The times shown are in seconds and hundredths of an second.

Race Times
Adams 12:20 Harris 12:89 Neill 13:81
Bray 12:32 Irvine  13:00 Orr 14:10
Carr 12:42 James  13:10 Parry 14:82
Davis 12:44 Kelly 13:29 Quinn  15:13
Evans  12:50 Lee 13:37 Roy 15:62
Ferris  12:58 May 13:70 Sony 15:80
Gad 12:65
(a) Construct a boxplot to illustrate this information. (scale below) (5)
(b) Calculate the semi-interquartile range. (1)
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Total 20 marks



